AMLEH AR

ik OO R ORR X E R

=1

No.

T F 0 £ B |SW2FEE KHtRESETH
T F 5 Fr |BREETRFEEHH#N
T # & 7 [EA—KTHE
T & i K |7,595 000 (HEBiIHKE)
K ¥ F 4 |ECALREKXSHT
REEFEOET |(HEREEIELITKFEHE2207
2K £ H B |[SF24E11H4H
M A& B 8,221,730 (HHEBLAR)
i Lt SF24E11H4R ~  SF34E3H26H
FHHHIBR  fE THER L=104. Om
HOESLE A=523. 6m2,
T #eim s HO3E AT GPU3-300-300 L=64. 6m

MATI2EE FHFHARBE KR EE THF & OEFAFIZ LY

BT H 2D % AL igﬁﬁ%gx%é?#\ﬂItﬂ}?ﬁ?)\mﬂzlﬁng*‘fi[;,r ')E'{’élﬁ’%iizfﬁil )

Lo 4T R W (BOHRARLEM)

B 4 X K 4 /1 = i %
A H 2 22, 300, 000 %Al
T 114R 22, 350, 000
JE T30 22, 400, 000
B 22, 500, 000
/INE AR 22, 500, 000
7 B JE R R 22, 550, 000
P R 22, 550, 000
A [ T RR R 22, 600, 000 ek
A T 2608 22, 650, 000




